EARAROBEEIERT — 2 N— IBISH —F

20145%7H198 (£) 8EMAE1H

R HAE C1 ¥5%R3KktE (w8 | mEmml - |5 5) o 8
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TN o4 | BER 1:31.1 1-1-1-1 | 39.6| — 2 459 | KBEX (EH)
1Ry 3| FIby—F2R 540 ) © |EmeEE
RYIRGT4 TR B:Fy—H—I EH AR
. EBIFE =31 ~3-4- . - HEXE (£8)
2| 1]1] #4151 5—a k- G | e e | | R e
LA bki—L BNRII—FvvyPa 1EHEBS
[N . WTaEE : —6-6- - AB®Y (1BR)
sl 4| YTNNTFITY P (12'31'/27) Toes |4 ° gg e =
LA N=32TKR—L BTN FTE2TFIL At HEER
N . 5 BER— : 00— — IEEA (EH)
s+ s <A XIVEINT ) L o4 50 1(/731:)7 2-2-2-3 | 40.1 8 ::3) SERS L
L:v> RKYIYRIZX B:OE-F EvJILy RTp—L
o — =« s REEZ 132, -5-5- . - REZE (£E)
5155 VN—F2T 40 #H 5 =5 (11312/20) 4-5-5-6 | 39.9 4 (3_974) Eorriil ]
L:Fa740 B:hxiavii—F IE=Sie]
. =g 32, -4-3- 3| - SABEA (£8)
6l8lg|Z7y Y=o Bt 56.0 1(13/22)1 Saea 08 ° (4_791) MEE= .
X9 T—NVZXTT—h BTHHTT E9'R EAE
. —— . — RETE (£H)
71721717V —>FRU—L i o4 54_0f 1.(332).7 7-7-7-7 | 40.3 7 (4_?;8) ¥#jz§5;;( 5
:a-T>79U> #:HU3IAL BA Fi
. HhEA . -8-8~ = FHAEEAEE (£8)
8 S| TP —T1—> i 4 Bl S 1.(353).6 8-8-8-8 | 39.6 6 (4531) i
R:vagr>h>7 #7107« TR 2B
® I —F—@EBIERL
13=zr= 3,6,1,5,8,4,7,2
Aol=5r= 3,6,1,8,5,4,7,2
BEE 3,6,8,1,5,4,7,2
43—+ — 3,1,6,8,4,5,7,2
[ RN
B OB 3 550H 714K 1-3 210M B E 1-3 530M &R 1-3-4 840M
8 B 3 180M 3-4 490M B E S5l 1,410 JEH 3-1-4 5,430
1 1004 1-4 290
4 130H4

ABICOVWTRDTEEERROODE. TR LIV,




